
1

INDICE INDEX INHALTSVERZEICHNIS

1.0 Caratteristiche Characteristics Merkmale 2

1.1 Designazione Designation Bezeichnung 3

1.2 Selezione Selection Getriebeauswahl 3

1.3
Carichi radiali e assiali
su albero lento

Radial and axial load on
output shaft

Radial-und Axiallasten an
der Ausgangswelle

4

1.4 Lubrificazione Lubrication Schmierung 4

1.5 Dati tecnici Technical data Technische Daten 5

1.6 Dimensioni Dimensions Abmessungen 6-15

1.7 Istruzioni per il montaggio
del motore

Instructions for assembly
of motor

Anleitung für Motormontage 16



2

1.0 Caratteristiche 1.0 Merkmale1.0 Characteristics

The planetary gearbox EP series is the
result of the outstanding ratio competi-
tive price / precision guaranteed with
regard to operating features.
Our gearboxes are manufactured for
prevailing utilization in the following ap-
plications:

• Machine tools

• Machines for woodworking

• Transfer machines

• Printing machines

• Automatic machines for packaging

• Automation

• Mechanical hands

• Silk-screen process machines

• Linear guides

The EP series is available in 5 sizes
(55, 75, 90, 120 and 155), with 1 or 2
reduction stages, with two types of out-
put shaft (A and T) and three types of
output flange (A, T and Q).

Gehäuse: aus Spezial-Nitrierstahl.
Garantiert Robustheit und dauerhaft
hohe Zuverlässigkeit.

Ein-u. Ausgangsflansche: aus Alu-
minium, in zahlreichen Varianten
lieferbar.

Wellen: aus vergütetem Legierungs-
stahl.

Zahnräder:aus Einsatzstahl mit ge-
schliffenen Zahnflanken.

Lager: sind hochwertig und
zweckmäßig bemessen, um eine
lange Lebensdauer und einen
geräuscharmen Lauf zu garantieren.

Housing: made of special nitrided
steel to assure strength, high reliability
and long life.

Flanges: input and output flanges
made of aluminium and available in
several versions.

Shafts: made of hardened and
tempered alloy steel.

Gears: made of casehardened and
tempered alloy steel, with ground
toothing.

Bearings: high quality and suitably
sized to assure long life and noiseless
working.

Corpo: costruito in acciaio, garantisce
robustezza e una elevata affidabilità
nel tempo.

Flange: le flange in entrata ed in uscita
sono costruite in alluminio e sono di-
sponibili in molteplici varianti costrutti-
ve.

Alberi: sono costruiti in acciaio legato
bonificato.

Ingranaggi: in acciaio legato da ce-
mentazione e tempra, con dentature
rettificate.

Cuscinetti: di elevata qualità opportuna-
mente dimensionati per garantire elevate
durate e silenziosità di funzionamento.

Die EP Serie von Planetengetrieben ist
das Ergebnis des hervorragenden
Verhältnis guten Preis / garantierte
Präzision der Betriebseigenschaften.
Unsere Getriebe sind für
überwiegende Verwendung in der
folgenden Applikationen hergestellt:

• Werkzeugmaschinen

• Holzbearbeitungsmaschinen

• Transfermaschinen

• Druckmaschinen

• AutomatischeVerpackungsmaschinen

• Automation

• Manipulatoren

• Siebdruckmaschinen

• Linearführungen

Die EP Serie ist in 5 Größen (55, 75,
90, 120 und 155) mit 1 oder 2
Untersetzungsstufen, mit zwei Typen
von Abtriebswellen (A und T) und drei
Typen von Abtriebsflanschen (A, T und
Q) verfügbar.

La serie di riduttori epicicloidali EP è il
risultato di un ottimo rapporto tra eco-
nomicità del prezzo e garanzia di preci-
sione delle caratteristiche di funziona-
mento.
I nostri riduttori sono stati realizzati per
un utilizzo prevalente sulle seguenti
applicazioni:

• Macchine utensili

• Macchine per la lavorazione del legno

• Linee transfer

• Macchine da stampa

• Macchine automatiche per confe-
zionamento ed imballaggio

• Automazioni

• Manipolatori

• Macchine serigrafiche

• Guide lineari

La gamma dei riduttori è costituita da 5
grandezze (55, 75, 90, 120 e 155), a 1
e 2 stadi di riduzione, ognuna con due
tipi di alberi uscita (tipo A e tipo T) e
flange uscita di tipo A, T e Q.



3

EP 55 2 C 100 A A AE.. P..

55
75
90
120
155

1
2

C 3 - 100 A
T

A
T
Q

Vedi tabelle
See tables
Siehe Tab.

Vedi tabelle
See tables
Siehe Tab.

R
id

u
tt

o
re

e
p

ic
ic

lo
id

a
le

P
la

n
e

ta
ry

g
e

a
rb

o
x

P
la

n
e

te
n

g
e

tr
ie

b
e

G
ra

n
d

e
zz

a
S

iz
e

G
rö

ß
e

C
o
a
ss

ia
le

C
o
a
x
ia

l
K

o
a
xi

a
l

N
u

m
e

ro
d

is
ta

d
i

S
te

p
s

U
n
te

rs
e
tz

u
n
g
ss

tu
fe

n

R
a
p
p
o
rt

o
d
ir

id
u
zi

o
n
e

R
a
ti
o

U
n
te

rs
e
tz

u
n
g
sv

e
rh

ä
ltn

is

A
lb

e
ro

u
sc

ita
.

O
u

p
u

t
s
h

a
ft

D
u

rc
h

m
e

ss
e

r
A

b
tr

ie
b

sw
e

lle

F
la

n
g

ia
u

sc
ita

O
u

tp
u

t
fl
a

n
g

e
A

u
sg

a
n

g
sf

la
n

sc
h

A
lb

e
ro

e
n

tr
a

ta
I n

p
u

t
s
h

a
ft

D
u

rc
h

m
e

ss
e

r
E

in
g

a
n

g
sw

e
lle

F
la

n
g

ia
in

e
n

tr
a

ta
In

p
u

t
fl
a

n
g

e
E

in
g

a
n

g
sf

la
n

sc
h

1.2 Selection

The selection of planetary gearboxes EP
series has to be made after the checking of
service factor. For intermittent or continu-
ous duty it is necessary to apply the follow-
ing formulas:
1) Intermittent duty:

Tm * i * RD * fc � T2N

2) Continuos duty:
Tm * i * RD * fc / 0.65 � T2N

where:

Tm = nominal torque of motor (Nm)

i = transmission ratio of gearbox

RD = dynamic efficiency

fc = cycle factor (see table)

For application with operation cycles
based on frequent accelerations it is nec-
essary to verify that max acceleration
torque is equal or inferior to the T2A value
shown in the tables.

Cicli/ora - cycle/h - Zyklen/h �1000 1000/2000 2000/3000

fc 1 1.2/1.5 1.5/2

1.2 Getriebeauswahl

Bei der Auswahl der Planetengetriebe EP
muß berücksichtigt werden, ob diese im
Aussetzbetrieb oder im Dauerbetrieb
eingesetzt werden:

1) Aussetzbetrieb:
Tm * i * RD * fc � T2N

2) Dauerbetrieb:
Tm * i * RD * fc / 0.65 � T2N

wobei:
Tm= Nennmoment des Motors (Nm)
I = Untersetzungsverhältnis
RD = Dynamischer Wirkungsgrad
fc = Zyklusfaktor (s. Tabelle)

1.2 Selezione

La selezione dei riduttori epicicloidali EP
deve essere effettuata valutando se il ser-
vizio è intermittente o continuo verificando
le seguenti relazioni.

1) Per servizio intermittente:
Tm * i * RD * fc � T2N

2) Per servizio continuo:
Tm * i * RD * fc / 0.65 � T2N

dove:
Tm = coppia nominale del motore (Nm)
i = rapporto di trasmissione del riduttore
RD = rendimento dinamico
fc = fattore ciclo (vedi tabella)

Bei Anwendungen mit häufigen Beschleu-
nigungen muß sichergestellt werden, daß
das maximale Beschleunigungsmoment
nicht höher ist als die in der Tabelle auf-
geführten Werte T2A.

Nelle applicazioni dove sono previsti cicli di
funzionamento caratterizzati da frequenti
accelerazioni è necessario verificare che
la coppia massima di accelerazione sia
uguale o inferiore al valore di T2A indicato
nelle tabelle.

1.3 Gioco angolare (� max) 1.3 Backlash (� max) 1.3 Spiel (� max)

1.1 Designation 1.1 Bezeichnung1.1 Designazione

Max. backlash measured on output shaft
by torque equals to 2% of the nominal
torque value with input shaft blocked.

Maximales Spiel [arcmin], gemessen an
der Abtriebswelle bei blockierter
Eingangswelle mit 2% des Nennmoments.

Gioco massimo [arcmin] misurato sull’albe-
ro uscita, con albero entrata bloccato appli-
cando una coppia pari al 2% della coppia
nominale.



4

EP 55 EP 75 EP 90 EP 120 EP 155

a 27 46 56 77 95

b 18 32 39 52 64

1.3 Carichi radiali e assiali su
albero lento

Nella tabella delle prestazioni sono indicati
i valori, espressi in N, dei carichi assiali e
radiali ammissibili alle diverse velocità per
una durata dei cuscinetti di 20.000 ore. Il
carico radiale FR2 si considera applicato ad
una distanza dalla battuta pari alla metà
della lunghezza dell’albero lento. Per di-
stanze y diverse, è possibile calcolare il
nuovo carico massimo ammissibile FR2Y

utilizzando formula e coefficienti indicati
nella tabella.

1.3 Radial and axial load on
output shaft

The table of performances shows admissi-
ble axial and radial load values expressed
in N for different speeds and for a bearing
life of 20.000 hours.Radial load FR2 calcu-
lations have been based on loads applied
to the center line of the output shaft exten-
sion. For different y distance it is possible
to calculate the new maximum admissible
load by using formula and coefficient
shown in the table.

1.3 Radial-und Axiallasten an
der Ausgangswelle

Die Leistungstabelle enthält die in N
ausgedrückten Werte der Axial- und
Radiallasten für verschiedene Umdre-
hungszahlen. Diesen Werten liegt eine
Lebensdauer der Lager von 20.000
Stunden zugrunde. Die Radiallast FR2

greift hierbei auf der Mitte der
Abtriebswelle an. Greift die Radiallast an
einem anderen Punkt der Abtriebswelle
an, so kann man die zulässige Radiallast
mit der folgenden Formel sowie den
dazugehörigen Koeffizienten berechnen:

1.4 Lubrificazione

I riduttori EP sono forniti completi di lubrifi-
cante a vita pertanto non necessitano di
manutenzione. In fase di ordine specificare
la posizione di montaggio.

1.4 Lubrication

EP gearboxes are supplied filled with
long-life lubricant and do not require any
maintenance. When ordering it is impor-
tant to specify the exact mounting posi-
tion.

1.4 Schmierung

Die Planetengetriebe EP werden inklusive
Dauerschmierung geliefert und sind
wartungsfrei. Bei der Bestellung bitte die
Einbauposition angeben.

i Rapporto di riduzione nominale Nominal ratio Nenn-Untersetzungsverhältnis
n1 nom Velocità nominale in entrata [min-1] Nominal input speed [min-1] Nenn-Eingangsdrehzahl [min-1]
n1 max Velocità massima in entrata [min-1] Maximum input speed [min-1] Maximale Eingangsdrehzahl [min-1]
T2N Coppia nominale intermittente in uscita [Nm] Intermittent output torque [Nm] Nenn-Abtriebsmoment (im Aussetzbetrieb)[Nm]
T2A Coppia massima di accelerazione in uscita [Nm] Maximum acceleration output torque [Nm] Maximales Beschleunigungsmoment [Nm]
T2S Coppia massima di emergenza in uscita [Nm] Maximum emergency output torque [Nm] Maximale Überlast [Nm]

LpA Livello di rumorosità dB(A) a 3000 min-1 Noise level dB(A) at 3000 min-1 Geräuschpegel dB(A) bei 3000 min-1

Rd Rendimento dinamico Dynamic efficiency Dynamischer Wirkungsgrad
Lh Durata cuscinetti [h] Bearing life [h] Lebensdauer der Lager [h]
FR2 Carico radiale nominale in uscita [N] a 100 min-1 Output radial load [N] at 100 min-1 Nenn-Radiallast an der Abtriebswelle bei 100 min-1

FA2 Carico assiale in uscita [N] a 100 min-1 Output axial load [N] at 100 min-1 Axiallast an der Abtriebswelle bei 100 min-1

Rt Rigidità torsionale [Nm / arcmin] Torsional rigidity [Nm / arcmin] Drehfestigkeit [Nm / arcmin]

�max Gioco angolare standard [arcmin] Standard backlash [arcmin] Standard Spiel [arcmin]
Jmin Momento d'inerzia minimo [kg.cm2] Min. moment of inertia [kg.cm2] Traegsheitsmoment min. [kg.cm2]
Jmax Momento d'inerzia massimo[kg.cm2] Max. moment of inertia [kg.cm2] Traegsheitsmoment max. [kg.cm2]

Symbols and unit of measure Abkürzungen und MaßeinheitenSimbologia e unità di misura



5

1.5 Technical data

EP 155 Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 240 320 380 300 220 320 400 500 500 500 500 500 500 500 500 350 250 n1nom 3000
T2A 420 540 600 480 400 480 600 750 750 750 750 750 750 750 750 560 460 n1max 4000
T2S 880 1140 1260 1000 850 1000 1250 1500 1500 1500 1500 1500 1500 1500 1500 1120 920 LpA < 70
Jmin 6.2232 3.6993 2.8162 2.1069 1.7391 6.0151 5.8025 5.7092 3.4671 3.4118 2.6324 2.0320 2.0135 1.7026 1.6934 1.6864 1.6827 Lh 20000

Jmax 13.9214 11.3975 10.5144 9.8051 9.4373 13.7133 13.5057 13.4074 11.1653 11.1100 10.3306 9.7302 9.7117 9.4008 9.3916 9.3846 9.3809
FR2 (AA)
FR2 (TT)

6500
5300

Rt 60 50 60 50
FA2 (AA)
FA2 (TT)

3250
2650

Rd 0.96 0.93 �max 15' 20'

EP 55 Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2
T2N 12 14 16 12 10 14 16 16 16 16 16 16 16 16 16 14 12 n1nom 4000
T2A 22 24 24 22 20 24 28 28 28 28 28 28 28 28 28 24 22 n1max 5000
T2S 44 48 48 44 40 48 56 56 56 56 56 56 56 56 56 48 44 LpA < 70
Jmin 0.0736 0.0626 0.0587 0.0553 0.0536 0.0734 0.0722 0.0718 0.0620 0.0617 0.0580 0.0552 0.0551 0.0536 0.0536 0.0535 0.0535 Lh 20000
Jmax 0.0909 0.0799 0.0759 0.0726 0.0709 0.0906 0.0894 0.0889 0.0791 0.0789 0.0751 0.0723 0.0722 0.0707 0.0707 0.0707 0.0706 FR2 300
Rt 1.0 0.9 1.0 0.9 FA2 450

Rd 0.96 0.93 �max 15' 20'

EP 75 Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2
T2N 22 28 32 28 20 26 32 36 36 36 36 36 36 36 36 30 22 n1nom 4000
T2A 40 45 50 45 40 50 60 60 60 60 60 60 60 60 60 50 45 n1max 5000
T2S 80 90 100 90 80 100 120 120 120 120 120 120 120 120 120 100 90 LpA < 70
Jmin 0.1707 0.1163 0.1063 0.0927 0.0860 0.1597 0.1549 0.1538 0.1159 0.1153 0.1017 0.0927 0.0925 0.0860 0.0859 0.0857 0.0857 Lh 20000
Jmax 0.2166 0.1622 0.1522 0.1386 0.1319 0.2056 0.2008 0.1997 0.1618 0.1612 0.1476 0.1386 0.1384 0.1319 0.1318 0.1316 0.1316 FR2 1800

Rt 3.5 3.0 3.5 3.0 FA2 1400

Rd 0.96 0.93 �max 15' 20'

EP 90 Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2
T2N 50 55 60 55 50 65 70 75 75 75 75 75 75 75 75 65 55 n1nom 4000
T2A 80 90 100 90 80 100 110 120 120 120 120 120 120 120 120 100 90 n1max 5000
T2S 160 180 200 180 160 200 220 240 240 240 240 240 240 240 240 200 180 LpA < 70
Jmin 0.5159 0.3371 0.2742 0.2247 0.2008 0.5193 0.4995 0.4925 0.3272 0.3233 0.2651 0.2215 0.2202 0.1992 0.1985 0.1980 0.1978 Lh 20000
Jmax 0.7271 0.5483 0.4854 0.4359 0.4120 0.7305 0.7305 0.7036 0.5384 0.5345 0.4763 0.4326 0.4314 0.4103 0.4097 0.4092 0.4090 FR2 2600

Rt 9.0 7.5 9.0 7.5 FA2 2000

Rd 0.96 0.93 �max 15' 20'

EP 120 Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 120 150 180 150 100 150 180 220 220 220 220 220 220 220 220 170 110 n1nom 3000
T2A 190 240 290 220 180 240 290 350 350 350 350 350 350 350 350 270 200 n1max 4000
T2S 400 500 600 460 380 500 600 700 700 700 700 700 700 700 700 540 400 LpA < 70
Jmin 2.0027 1.1339 0.8557 0.6244 0.5047 1.9802 1.8962 1.8552 1.0736 1.0505 0.8023 0.6048 0.5977 0.4951 0.4918 0.4895 0.4883 Lh 20000
Jmax 4.1528 3.2840 3.0058 2.7745 2.6548 3.1885 3.1045 3.0636 2.2819 2.2589 2.0106 1.8132 1.8061 1.7035 1.7002 1.6979 1.6967 FR2 4500

Rt 32 28 32 30 28 FA2 4000

Rd 0.96 0.93 �max 15' 20'

1.5 Technische Daten1.5 Dati tecnici

Pag.
Page
Seite

6

Pag.
Page
Seite

8

Pag.
Page
Seite

10

Pag.
Page
Seite

12

Pag.
Page
Seite

14



6

A
E

A
E

1.5 1.5

1.5 1.5

4x4 4x4

4x4 4x4

1
2

k6

1
2

k6

A
E

A
E

1
2

k6

1
2

k6

M4x10 M4x10

M4x10 M4x10

18 18

18 18

14 14

14 14

6.5 5.5

8 8

5.5 4.5

12 12

13 13

C1 C1

C1 C1

T T

T T

S S

S S

7474

M4x8
M5x10

5.55.5

44 40

35 h7 32 h7

5555

55 55

6565

36 g636 g6

Dati tecnici / Technical data / Technische Daten

EP 55
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 12 14 16 12 10 14 16 16 16 16 16 16 16 16 16 14 12 n1nom 4000

T2A 22 24 24 22 20 24 28 28 28 28 28 28 28 28 28 24 22 n1max 5000

T2S 44 48 48 44 40 48 56 56 56 56 56 56 56 56 56 48 44 LpA < 70

Jmin 0.0736 0.0626 0.0587 0.0553 0.0536 0.0734 0.0722 0.0718 0.0620 0.0617 0.0580 0.0552 0.0551 0.0536 0.0536 0.0535 0.0535 Lh 20000
Jmax 0.0909 0.0799 0.0759 0.0726 0.0709 0.0906 0.0894 0.0889 0.0791 0.0789 0.0751 0.0723 0.0722 0.0707 0.0707 0.0707 0.0706 FR2 300

Rt 1.0 0.9 1.0 0.9 FA2 450

Rd 0.96 0.93 �max 15' 20'

AA TT

AQ TQ

EP55

Stadi/Steps/Stufenzahl 1 2
AE=

6 - 6.35 - 7 - 8 - 9 - 9.52 - 11C1 62.5 81.5
T 87 106

Stadi/Steps/Stufenzahl 1 2
AE=

6 - 6.35 - 7 - 8 - 9 - 9.52 - 11C1 63.5 82.5
T 87 106

Stadi/Steps/Stufenzahl 1 2
AE=

6 - 6.35 - 7 - 8 - 9 - 9.52 - 11C1 56 75
T 87 106

Stadi/Steps/Stufenzahl 1 2
AE=

6 - 6.35 - 7 - 8 - 9 - 9.52 - 11C1 56 75
T 87 106

1.6 Dimensions 1.6 Abmessungen1.6 Dimensioni

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch



7

Flange entrata / Input flange / Antriebsflansch

Albero entrata / Input shaft / Antriebswelle

AE

6 6.35 7 8 9 9.52 11

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H

P01 60 = = 43.82 22 4.5 10 3 22 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P02 = 60 80 66.67 38.1 5.5 10 3 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P03 = 60 80 63 40 5.5 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P04 = 70 90 75 60 6.5 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P05 105 = = 85 70 6.5 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P06 = 80 110 98.42 73.02 6 11 3.5 35 31 8 31 8 31 8 31 8 31 8 31 8 31 8

P07 = 95 120 100 80 6.5 11.5 4 32 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5

P08 = 98 130 115 95 9 11.5 4 32 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5

P09 = 116 160 130 110 9 12 4.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P10 60 = = 39 26 4.5 10 3 26 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P11 60 = = 42 32 4.5 10 3 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P12 65 = = 46 32 4.5 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P13 80 = = 65 50 5.5 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P14 60 = = 39 20 4.5 10 2.5 20 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P15 = 75 100 90 60 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P16 60 = = 45 30 3.5 14 7 30 34 11 34 11 34 11 34 11 34 11 34 11 34 11

P17 = 60 82 70 50 4.5 16.5 8 32 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5

P18 = 60 80 60 50 M4 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P19 60 = = 36 25 4.5 10 3 25 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P20 = 60 82 70 50 5.5 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P21 60 = = 46 30 4.5 10 3 30 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P22 = 60 80 70.71 36 4.5 10 2 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P23 = 62 85 70 50 5.5 15.5 3.5 32 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5

P24 = 75 100 90 70 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P25 = 70 95 85 55 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P26 = 60 80 65.5 34 5.5 10 3.5 33 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P27 = 80 110 95 50 6.5 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P28 = 60 80 66.67 38.1 M4 9 2.5 32 29 6 29 6 29 6 29 6 29 6 29 6 29 6

P29 60 = = 45 30 M3 11 4 32 31 8 31 8 31 8 31 8 31 8 31 8 31 8

P30 = 70 95 85 60 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P31 = 62 85 70 50 M4 11 3.5 32 31 8 31 8 31 8 31 8 31 8 31 8 31 8

H

Lmax

A
E

H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP55
Flangia entrata

Input flange
Antriebsflansch



8

Dati tecnici / Technical data / Technische Daten

EP 75
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 22 28 32 28 20 26 32 36 36 36 36 36 36 36 36 30 22 n1nom 4000

T2A 40 45 50 45 40 50 60 60 60 60 60 60 60 60 60 50 45 n1max 5000

T2S 80 90 100 90 80 100 120 120 120 120 120 120 120 120 120 100 90 LpA < 70

Jmin 0.1707 0.1163 0.1063 0.0927 0.0860 0.1597 0.1549 0.1538 0.1159 0.1153 0.1017 0.0927 0.0925 0.0860 0.0859 0.0857 0.0857 Lh 20000
Jmax 0.2166 0.1622 0.1522 0.1386 0.1319 0.2056 0.2008 0.1997 0.1618 0.1612 0.1476 0.1386 0.1384 0.1319 0.1318 0.1316 0.1316 FR2 1800

Rt 3.5 3.0 3.5 3.0 FA2 1400

Rd 0.96 0.93 �max 15' 20'

EP75

A
E

A
E

1.5 1.5

1.5 1.5

5x5 5x5

5x5 5x5

1
6

k6

1
4

k6

A
E

A
E

1
6

k6

1
4

k6

M5x12 M5x12

M5x12 M5x12

28 28

28 28

25 25

25 25

8 6.5

10 10

5.5 4

16 16

18 18

C1 C1

C1 C1

T T

T T

S S

S S

9797

M5x10

5.55.5

62 52

52 h7 40 h7

7272

72 72

8585

52 g652 g6

M5x10

AA TT

AQ TQ

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14C1 78.5 101
T 114.5 137

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14C1 80 102.5
T 114.5 137

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14C1 68.5 91
T 114.5 137

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14C1 68.5 91
T 114.5 137

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch



9

Flange entrata / Input flange / Antriebsflansch

Albero entrata / Input shaft / Antriebswelle

AE

6 6.35 7 8 9 9.52 11 12 12.7 14

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H

P01 60 = = 43.82 22 4.5 10 3 22 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P02 = 60 80 66.67 38.1 5.5 10 3 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P03 = 60 80 63 40 5.5 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P04 = 70 90 75 60 6.5 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P05 105 = = 85 70 6.5 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P06 = 80 110 98.42 73.02 6 11 3.5 35 36 5.5 36 5.5 36 5.5 27 7.5 27 7.5 36 7.5 27 7.5 36 7.5 36 7.5 36 7.5

P07 = 95 120 100 80 6.5 11.5 4 32 36.5 6 36.5 6 36.5 6 27.5 8 27.5 8 36.5 8 27.5 8 36.5 8 36.5 8 36.5 8

P08 = 98 130 115 95 9 11.5 4 32 36.5 6 36.5 6 36.5 6 27.5 8 27.5 8 36.5 8 27.5 8 36.5 8 36.5 8 36.5 8

P09 = 116 160 130 110 9 12 4.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P10 60 = = 39 26 4.5 10 3 26 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P11 60 = = 42 32 4.5 10 3 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P12 65 = = 46 32 4.5 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P13 80 = = 65 50 5.5 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P14 60 = = 39 20 4.5 10 2.5 20 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P15 = 75 100 90 60 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P16 60 = = 45 30 3.5 14 7 30 39 8.5 39 8.5 39 8.5 30 10.5 30 10.5 39 10.5 30 10.5 39 10.5 39 10.5 39 10.5

P17 = 60 82 70 50 4.5 16.5 8 32 41.5 11 41.5 11 41.5 11 32.5 13 32.5 13 41.5 13 32.5 13 41.5 13 41.5 13 41.5 13

P18 = 60 80 60 50 M4 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P19 60 = = 36 25 4.5 10 3 25 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P20 = 60 82 70 50 5.5 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P21 60 = = 46 30 4.5 10 3 30 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P22 = 60 80 70.71 36 4.5 10 2 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P23 = 62 85 70 50 5.5 15.5 3.5 32 40.5 10 40.5 10 40.5 10 31.5 12 31.5 12 40.5 12 31.5 12 40.5 12 40.5 12 40.5 12

P24 = 75 100 90 70 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P25 = 70 95 85 55 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P26 = 60 80 65.5 34 5.5 10 3.5 33 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P27 = 80 110 95 50 6.5 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P28 = 60 80 66.67 38.1 M4 9 2.5 32 34 3.5 34 3.5 34 3.5 25 5.5 25 5.5 34 5.5 25 5.5 34 5.5 34 5.5 34 5.5

P29 60 = = 45 30 M3 11 4 32 36 5.5 36 5.5 36 5.5 27 7.5 27 7.5 36 7.5 27 7.5 36 7.5 36 7.5 36 7.5

P30 = 70 95 85 60 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P31 = 62 85 70 50 M4 11 3.5 32 36 5.5 36 5.5 36 5.5 27 7.5 27 7.5 36 7.5 27 7.5 36 7.5 36 7.5 36 7.5

H

Lmax

A
E

H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP75
Flangia entrata

Input flange
Antriebsflansch



10

Dati tecnici / Technical data / Technische Daten

EP 90
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 50 55 60 55 50 65 70 75 75 75 75 75 75 75 75 65 55 n1nom 4000

T2A 80 90 100 90 80 100 110 120 120 120 120 120 120 120 120 100 90 n1max 5000

T2S 160 180 200 180 160 200 220 240 240 240 240 240 240 240 240 200 180 LpA < 70

Jmin 0.5159 0.3371 0.2742 0.2247 0.2008 0.5193 0.4995 0.4925 0.3272 0.3233 0.2651 0.2215 0.2202 0.1992 0.1985 0.1980 0.1978 Lh 20000
Jmax 0.7271 0.5483 0.4854 0.4359 0.4120 0.7305 0.7305 0.7036 0.5384 0.5345 0.4763 0.4326 0.4314 0.4103 0.4097 0.4092 0.4090 FR2 2600

Rt 9.0 7.5 9.0 7.5 FA2 2000

Rd 0.96 0.93 �max 15' 20'

EP90

A
E

A
E

3 3

3 3

6x6 6x6

6x6 6x6

2
2

k6

1
9

k6

A
E

A
E

2
2

k6

1
9

k6

M8x16 M6x16

M8x16 M6x16

36 36

36 36

30 30

30 30

10 7

12 12

7.5 4.5

18 18

20 20

C1 C1

C1 C1

T T

T T

S S

S S

120
120

M6x12

77

80

68 h7

9090

90

105105

65 g665 g6

65

50 h7

90

M6x12

AA TT

AQ TQ

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19C1 98 127
T 144 173

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19C1 101 130
T 144 173

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19C1 88 117
T 144 173

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19C1 88 117
T 144 173

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch



11

Flange entrata / Input flange / Antriebsflansch

Albero entrata - Input shaft - Antriebswelle

AE

9 9.525 11 12 12.7 14 15.87 16 19

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H L

max H

P01 80 = = 66.67 38.1 5.5 12 3 38.1 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P02 = 106.5 140 125.72 55.52 7 11 3 45 43 5.5 43 8 28 8 43 8 43 8 43 8 43 8 43 8 43 8

P03 = 80 90 75 60 5.5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P04 105 = = 85 70 6.5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P05 = 82.5 110 98.425 73.02 6.5 12 3 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P06 = 90 120 100 80 6.5 13 4 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P07 = 100 135 115 95 8.5 13 4.5 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P08 = 116 160 130 110 9 13 4.5 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P09 80 = = 39 26 4.5 12 4 26 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P10 80 = = 65 50 5.5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P11 = 150 182 166 115 9 32 11 50x14 64 26.5 64 29 49 29 64 29 64 29 64 29 64 29 64 29 64 29

P12 = 80 105 90 70 6.5 12 3.5 32 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P14 105 = = 90 70 6 19 9 32 51 13.5 51 16 36 16 51 16 51 16 51 16 51 16 51 16 51 16

P15 80 = = 70 50 4.5 17 8 45 49 11.5 49 14 34 14 49 14 49 14 49 14 49 14 49 14 49 14

P16 = 142 190 165 130 11 13 4.5 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P17 80 = = 63 40 5.5 12 3.5 40 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P18 = 130 170 145 110 M8 31 7 32 63 25.5 63 28 48 28 63 28 63 28 63 28 63 28 63 28 63 28

P19 = 80 105 90 60 6.5 12 3.5 32 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P20 = 80 105 85 55 5.5 12 3.5 36 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P21 = 80 110 95 50 M6 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P22 80 = = 70 50 M4 12 4 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P23 = 80 90 75 60 M5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P24 80 = = 46 30 M4 12 4 30 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P25 80 = = 99 60 M6 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

H

Lmax

A
E

H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP90
Flangia entrata

Input flange
Antriebsflansch



12

Dati tecnici / Technical data / Technische Daten

EP 120
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 120 150 180 150 100 150 180 220 220 220 220 220 220 220 220 170 110 n1nom 3000

T2A 190 240 290 220 180 240 290 350 350 350 350 350 350 350 350 270 200 n1max 4000

T2S 400 500 600 460 380 500 600 700 700 700 700 700 700 700 700 540 400 LpA < 70

Jmin 2.0027 1.1339 0.8557 0.6244 0.5047 1.9802 1.8962 1.8552 1.0736 1.0505 0.8023 0.6048 0.5977 0.4951 0.4918 0.4895 0.4883 Lh 20000
Jmax 4.1528 3.2840 3.0058 2.7745 2.6548 3.1885 3.1045 3.0636 2.2819 2.2589 2.0106 1.8132 1.8061 1.7035 1.7002 1.6979 1.6967 FR2 4500

Rt 32 28 32 30 28 FA2 4000

Rd 0.96 0.93 �max 15' 20'

EP120

A
E

A
E

4 2.5

4 2.5

10x8 8x7

10x8 8x7

3
2

k6

2
5

k6

A
E

A
E

3
2

k6

2
5

k6

M12x24 M10x22

M12x24 M10x22

58 50

58 50

50 45

50 45

12 7

15 15

6 5

20 20

25 25

C1 C1

C1 C1

T T

T T

S S

S S

155
155

M8x16
M8x16

99

108 85

90 h7 70 h7

115115

125 115

135135

90 g690 g6

11
5

AA TT

AQ TQ

Stadi/Steps/Stufenzahl 1 2

C1 115.8 148.4 AE=
12.7-14-15.87-16-19T 185.8 218.4

C1 134.8 167.4 AE=
22-24-28T 204.8 237.4

Stadi/Steps/Stufenzahl 1 2

C1 120.8 153.4 AE=
12.7-14-15.87-16-19T 177.8 210.4

C1 139.8 172.4 AE=
22-24-28T 196.8 229.4

Stadi/Steps/Stufenzahl 1 2

C1 102.8 135.4 AE=
12.7-14-15.87-16-19T 185.8 218.4

C1 121.8 154.4 AE=
22-24-28T 204.8 237.4

Stadi/Steps/Stufenzahl 1 2

C1 102.8 135.4 AE=
12.7-14-15.87-16-19T 177.8 210.4

C1 121.8 154.4 AE=
22-24-28T 196.8 229.4

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch



13

Flange entrata / Input flange / Antriebsflansch

Albero entrata - Input shaft - Antriebswelle

AE

12.7 14 15.87 16 19 22 24 28

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H

P01 = 115 140 125.72 55.52 6.5 13 3 55.52 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P02 115 = = 75 60 5.5 13 3.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P03 115 = = 85 70 6.5 13 3.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P04 115 = = 98.42 73.02 6.5 13 3 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P05 120 = = 100 80 6.5 13 4 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P06 = 115 140 115 95 9 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P07 = 115 160 130 110 8.5 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P08 = 142 190 165 130 11 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P09 = 192 250 215 180 13 14 4.5 60 44 7 36 7 44 7 44 7 44 7 63 7 63 7 63 7

P10 115 = = 65 50 6.5 13 3.5 50 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P11 = 130 170 145 110 M 8 31 7 60 61 24 53 24 61 24 61 24 61 24 80 24 80 24 80 24

P12 = 130 170 145 110 M 8 17 7 60 47 10 39 10 47 10 47 10 47 10 66 10 66 10 66 10

P13 = 115 160 130 110 M 8 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P14 115 = = 70 50 6.5 13 3.5 50 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P15 115 = = 90 70 M5 11 3.5 60 41 4 33 4 41 4 41 4 41 4 60 4 60 4 60 4

P17 115 = = 90 70 6.5 13 3.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P18 = 115 155 130 95 8.5 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P19 115 = = 95 50 6.5 13 3.5 50 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

P20 115 = = 99 60 M6 13 4 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6

H

Lmax

A
E

H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP120
Flangia entrata

Input flange
Antriebsflansch



14

Dati tecnici / Technical data / Technische Daten

EP 155
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 240 320 380 300 220 320 400 500 500 500 500 500 500 500 500 350 250 n1nom 3000

T2A 420 540 600 480 400 480 600 750 750 750 750 750 750 750 750 560 460 n1max 4000

T2S 880 1140 1260 1000 850 1000 1250 1500 1500 1500 1500 1500 1500 1500 1500 1120 920 LpA < 70

Jmin 6.2232 3.6993 2.8162 2.1069 1.7391 6.0151 5.8025 5.7092 3.4671 3.4118 2.6324 2.0320 2.0135 1.7026 1.6934 1.6864 1.6827 Lh 20000

Jmax 13.9214 11.3975 10.5144 9.8051 9.4373 13.7133 13.5057 13.4074 11.1653 11.1100 10.3306 9.7302 9.7117 9.4008 9.3916 9.3846 9.3809
FR2 (AA)
FR2 (TT)

6500
5300

Rt 60 50 60 50
FA2 (AA)
FA2 (TT)

3250
2650

Rd 0.96 0.93 �max 15' 20'

EP155

A
E

5 2.5

6

12x8 10x8

12x8

4
0

k6

3
2

k6

A
E

1
4

0

A
E

4
0

k6

M16x36 M12x28

M16x36

80 55

80

70 50

70

15 15

23.5

8 8

23

30

C1 C1

C1

T T

T

S S

S

188

M10x20
M12x20

11

140 110

120 h7 80 h7

140

160 140

165

105 g6

AA TT

AQ

Stadi/Steps/Stufenzahl 1 2

C1 156 197.5 AE=
15.87-16-19-22-24T 251 292.5

C1 181 222.5 AE=
28-32-35-38T 276 317.5

Stadi/Steps/Stufenzahl 1 2

C1 156 197.5 AE=
15.87-16-19-22-24T 226 267.5

C1 181 222.5 AE=
28-32-35-38T 251 292.5

Stadi/Steps/Stufenzahl 1 2

C1 141 182.5 AE=
15.87-16-19-22-24T 251 292.5

C1 166 207.5 AE=
28-32-35-38T 276 317.5

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch



15

Flange entrata / Input flange / Antriebsflansch

Albero entrata - Input shaft - Antriebswelle

AE

15.87 16 19 22 24 28 32 35 38

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H L

max H

P01 140 = = 125.72 55.52 6.5 15 4 55.52 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P02 140 = = 100 80 6.5 15 4 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P03 140 = = 115 95 8.5 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P04 = 140 160 130 110 8.5 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P05 = 142 190 165 130 11 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P06 = 190 250 215 180 13 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P07 = 250 300 265 230 13 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P08 = 130 165 145 110 M 8 18 7 70 60.8 9.8 60.8 9.8 45.8 9.8 60.8 9.8 60.8 9.8 85.8 10.3 85.8 10.3 85.8 10.3 85.8 10.3

P09 = 180 230 200 114.3 13.5 22 11 70 64.8 13.8 64.8 13.8 49.8 13.8 64.8 13.8 64.8 13.8 89.8 14.3 89.8 14.3 89.8 14.3 89.8 14.3

P10 = 115 150 130 95 M 8 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P11 = 180 230 198 155 13.5 22 7 120x11 64.8 13.8 64.8 13.8 49.8 13.8 64.8 13.8 64.8 13.8 89.8 14.3 89.8 14.3 89.8 14.3 89.8 14.3

P12 = 220 270 235 200 13.5 15 5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P13 = 190 250 215 130 13 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P14 = 142 190 165 110 11 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P15 150 = = 90 70 6.5 15 4 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

H

Lmax

A
E

H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP155
Flangia entrata

Input flange
Antriebsflansch



16

DV
AE

CH

LM

FV

CS

1 - Allentare la vite di serraggio
del morsetto (DV)

2 - Estrarre la linguetta (LM)
dall'albero motore

3 - Pulire le superfici di contatto
delle flange motore e riduttore

4 - Calettare il motore sul
riduttore evitando urti

5 - Stringere le viti di assemblaggio
(FV) in modo alternato

6 - Serrare lavite (o le viti) del
morsetto (DV) alla coppia
(CS) indicata in tabella

EP 55

AE 6 6.35 7 8 9 9.52 11

DV M4
NV 1
CH 3

CS [Nm] 4.8

EP 75

AE 6 6.35 7 8 9 9.52 11 12 12.7 14

DV M4
NV 1
CH 3

CS [Nm] 4.8

EP 90

AE 9 9.52 11 12 12.7 14 15.87 16 19

DV M4 M5
NV 1 1
CH 3 4

CS [Nm] 4.8 9.4

EP 120

AE 12.7 14 15.87 16 19 22 24 28

DV M4 M5 M6
NV 1 1 2
CH 3 4 5

CS [Nm] 4.8 9.4 16.2

EP 155

AE 15.87 16 19 22 24 28 32 35 38

DV M6 M6 M6
NV 1 2 3
CH 5 5 5

CS [Nm] 16.2 16.2 16.2

1 - Unloose the fastening screw
(or screws) of the clamp (DV)

2 - Remove the key (LM) from
motor shaft

3 - Clean the contact surfaces
of motor flange/gearbox flange

4 - Avoid impacts while fitting
motor to gearbox

5 - Tighten the assembling scews
(FV) alternatively

6 - Tighten the clamp screw,or
screws (DV) according to
the torque (CS) reported in the
table

1 - die Befestigungsscraube der
Klammer (DV) lockern

2 - die Feder (LM) aus Getriebe
und Motorwelle ziehen

3 - die Motorflansch / Getriebeflansch
Kontaktfläche reinigen

4 - Motor und Getriebe ohne
Stöße verkeilen

5 - die Befestigungsscrauben (FV)
abwechselnd anziehen

6 - die Schraube (oder Schrauben)
der Klammer (DV) zu dem in der
TabelleangegebenenAnzugsmoment
anziehen

AE= Albero entrata / Input shaft / Antriebswelle
DV= Diametro vite / Screw diameter / Schraubendurchmesser

NV= Numero viti / Number of screw / Schraubenanzahl
CS= Coppia di serraggio / Setting torque / Spannungsmoment

1.7 Instructions for
assembly of motor

1.7 Anleitung für Motormontage1.7 Istruzioni per il montaggio del
motore



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (None)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile true
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue true
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 1200
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 1200
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /Description <<
    /ENU (Use these settings to create PDF documents suitable for reliable viewing and printing of business documents. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f300130d330b830cd30b9658766f8306e8868793a304a3088307353705237306b90693057305f00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /FRA <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /NOR <>
    /SVE <>
    /KOR <FEFFc5c5bb34c6a90020bb38c11cb97c0020ac80d1a0d558ace00020c778c1c4d558b2940020b3700020c801d569d55c00200050004400460020bb38c11cb97c0020b9ccb4e4b824ba740020c7740020c124c815c7440020c0acc6a9d558c2edc2dcc624002e0020c7740020c124c815c7440020c0acc6a9d558c5ec0020b9ccb4e000200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c9002540875284e8e55464e1a65876863ff0c53ef4ee553ef9760573067e5770b548c6253537030028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f003002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef69069752865bc6aa28996548c521753705546696d65874ef63002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f3002>
    /ITA <>
  >>
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [595.276 841.890]
>> setpagedevice


